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.'. 540x = (x+ 4)x 420=(540x-420x)=4x420 = 120'x = t680 + 'r = 14'

erc: r&o qd e1 fird qri qrd M : t+'

lle. er+gn+'ffi=.r. qtrd+1{qr =i,SCI*lt* =('-f =?
Y I I r 2r ' 3 -2 r

qEilqdqtrii =i il, * 5=o; e-divrds€q =T +; * l=J'

q-qrqrn6ffi =[;.;)=i;

f<arq-dqrdi6ffi =(,-#)=*= seo+urn'am f| vrn'

tt7. rIHI B q1 qg=yf64o.fq,,4 r{F =(x+15) f6'IIo.

x+ (x + t5) = 135 + 2r = 120 + x = 60'

... B :FI rm = 60 frqlo.
rre. il 35 to srd ffi =r. tre, 60 to qdEtFt = (147 -r)'

35x * 6011 47 - x) 
= 68.20 = 35x + 60(147 - x) = 6820 = 25r = (8t20 - 6820) = 2000 = x = 80'

100 100

trs. qr<I ifd ql srqte {qr -r. aq, r+fi +<qr Is =*
450 450 t I 15 I . (r+5)-x I

, -tr*Sl-'-- x (x+5) 450 30 r('r+5) 30

+x(r+5)-I50=0 = 12+5x-I50-0+('x+15)(r-10)=Q + x= l0'

i'<l e1 wfre {q = to.



sr#s-{q

r20. I *s,EndriEnd = s, * qsilqd{qri :so
300 n-s' trr iiqil qiil {qr{ = 20 t .

qiqsd -

[ .x'\ 2x=(,-;J ro =T Fo.

o" =ff. * =(?-#) 8.xto =lJ, ro,

T

.x

l
2x

T
2x

o" =ff * *'=(f;-#)* =* o" =f o"

2xto =T Fo.
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iu$e d+] sl dut = (9x t + 90x 2+ 20t x 3) = (9+ 180 + 603) -_192.l2t. qt=n qrcq { gq+-qrq .r T.o Q

qrcTctq{ = *sTo

'*)
_t )

ts)
qrac{ud = t

f = rro =, = [rzso, 
j) = r,zs.

qtfu{ enr = 8t25 To.
122. qnr q+, Sid f, Ilt l =, 5o. 6q 1 fq Et Tg = 21 5o,

5x x + 2xzx = 27fi):+ 9-r = 2700 + .r = 300 .

I gid dqr I to E'r gn q= = 3xio : (3 , 3OO) tro = 900 tro

tzs. er+gnft-o=-rto, gqilfr6 =f o". * * =[r-*)

... 3r=aoo=,=(or,|)=,* o".

eii: gn frq = l00O to.
12a. q;q1 yrfu y6s *, *d ol {ct =r. rq

r + 5x+ I0.r = 640:+ 16r = 640 + x = 40.

SH +a'sl tut = (40 + 40 + 40) = t20.
lZs. qnr*+rfi,n +ffi 6,r [eq =r d.o. q

x+2x + 4x=175=7x =l7S) x=25.
ffi dW tFt : 3-r do =13,, 25) To = 75 Eo.

r 26. qnr 5 +t + fs€il e1 dqr = x. re. r o ti +. fiq6i d {qr = (r0 _ r)
. * - t# = u.25 =.r + 2(80 - r) - t2j = x = (t60- I 2s) = 35.

erd: 5 ti + fuE+ o1 dqr = rs.
t27. CtTl 50 Fo qra +a =, irQ[ t00Toar&tta=1AS_ry.

50r + I 00 (E5 - r) = 5O00 = 50x = (t50O _ SOO0) = 3500 = .r = 70.
50 ro qra *d qil Sll tic = (70 x 50) To = 3500 E,o.

t28. qFil rrqrr qqfl sftql =.r f+flo aqr qif"[ lrffr Et<r = (50 _x) frilro.
9
-x.r+ 5(50-:) = 240= 9.r+ t0(50-.r) = 4t0 = .r = 20.

... vd we6 61 q6q1 rr{ qgr = zo f+fl..
;29, qrrr qq{Ed = C aqrqnrttelqs6 =yfugq.7q

C+250r= 1000 ...(r) aqt C +240x =990 ...(ti)
yd fe fii tfi, = 2 iTcrr C = 5116.
qifrE qrREr{. g{ = (500 + 3j0 x 2) To : 1200&o.
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lJo. qT=rl I-&6F, ftft-cq sr {{Fq = r f,i-iz.

Eqil 61 5f, q{q = (13 vQ z7 1fig I - (10 qot) :3 qot zz ft-r-e = zoz ff+e'

.. 3 (.x +5) +x = 207 - 4x =192 ) x = 48.

v-*o ftftrre eT qcq = 48 tr;re.

E<f€ sffifitd

qnrffi +,r qp:-,ft'41o. cri s'l 5fl rIR = (40 -x) f+flo. efit crfi fl t'n = j<co-*t ftot'

jtm-.r) +.r = rO = 40- x + 2x = 60 ='r = 20'

I3l

... grefr eih 6,l qq = 29 f51o.
7 A7

t!2. qm t=rl. ra,;=; ""i( 
A:B=7:e

ota qm = t440xL
t6

tr'o = 630 Fo,(
r33. qFrr ,t qo q; 1s* = -x. TtI, 20 qo * t{* = (324 - r).

... I* (324-x) - 1t*5x+4(324-x)=1420 + x=(1420-1296)=124."4 
5

... zs {. * ffi+1riqt = tz+.

trl. eqkq Ed,r Ettr(, r-e6 EEftr d rq o1'ri (fi = 30 *fro'
eli{q EEfu t tq +1T i (fr = 60 t*o. Y}q Efr = (900 - 60) tfro = 34s ffio'

/809*r)=,re*,r=rr.
S;tl 6dlrn 6I sqr = [ 30 )

r3s. cHrEiE EEr{ =r tflo. irq, E,16l * =; tfi"'

$, * =(r-;) ffi" =+ tno, qt,e * =(;'+) +*" =# *"'
+,"*, =(?-#)*" =ff m"

7x 7 16 ^;. ____+x=1=6.

eia: tfuo +1gn eqr{ = s tfro'
4l.J x 100 425x100-.,,

t36. EEql Er Tr@Il = 85 = 
t0,. 85 - '"

r3?. q.rr lt=ln=r. s, A=4k (o, a=6t'

4k + 6k = 2400 + l0k = 2400 * k = 244.

(B - A) =2k = (2x 240) = 480 
.to.

t3S. qmgitl tr.s+ =r ilzll S-fl arsf'jEql=/' n-s

{ = tOO =.x = 300. e16: g-€ E.<*' = 300.
3

l=zoo= t=t00. q<: Snu-.cffi=noo.

fqsr€q d 5H MqqI- qi {Eql = (300 + a00) = 790'


